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	ATP binds with the myosin head. This knocks it off the actin 
binding site.
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	The myosin hydrolyses the ATP storing energy in the head.
	

	Calcium binds with troponin shifting the tropomyosin so that actin binding sites are open.
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	The myosin head is able to join with an actin binding site, this releases the hydrolysed ATP.

	
	Tropomyosin is held over the actin binding sites by troponin.

	
	The myosin head shifts its position “walking” it along the actin strand.
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	The myosin hydrolyses ATP storing energy in the head.
	Tropomyosin is held over the actin binding sites by troponin.
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	Calcium binds with troponin shifting the tropomyosin so that actin binding sites are open.
	The myosin head is able to join with an actin binding site, this releases the hydrolysed ATP.
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	The myosin head shifts its position “walking” it along the actin strand.
	ATP binds with the myosin head. This knocks it off the actin 
binding site.
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